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<HATE>  HBREEFESERD R

ORH RIS ZTEA T HIAARZEANENHE TR L BRANHENER IS,
EBR: (x +y)2 = x2 + 2xy + y2 12§52k

EEDME: x2 + 2xy +y2 > (x + y)2 |IF52)

OHBREKLIL. $ENIHEIHBLEZEEKN Y,

<BI> 4x2 + bxy = 2x(2x + 3y) <IN 2xThilb,

-bx2 + 3bxy — 5b2xy = -bx(x -3y + 5Sby) «<Z#NZTHL-bxThHil5,

XEBDBELEIWEVIHIBBE T HBRBEFEI LI, Lo sMIEHLTLES S

Yo AvANFDNRAIINDHEBRAK THNEY FIERRIZRS,

[I1DROXEZERLAG I,

(1) ab+ac ( a(b+c) ) (2) ab%-abc ( ab(b-c) )
(3)3x-9y ( 3(x-3y) ) (4) 4xy-5xz ( x(4y-52z) )
(5) 5xy+10xy? ( 5xy(1+2y) ) (6)-10dbc+8bc ( -2bc(5a-4) )
(7) 20x2-8xy ( 4x(5x-2y) ) (8)-Tx2y3+l4xy? ( -Txy?(xy-2) )
(9) ab-ac+a (a(b-c+1) ) (10)x2y-xy2+xy ( xy (x=y+1) )
(11)9a2b2-15a2bc2+3bc  ( 3b(302b-5a2c2+c) )

(12) 8x2y2z+ | 2xyz— | 6xyz2  ( 4xyz(2xy+3-4z) )
(13)-25a2b3c-15a2bc2+40abec  ( -5abc(5ab2+3ac-8) )
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